# New Hampshive Department of Transportation

### **ABC Bid Data**

STATEWIDE I-95 DURABLES
44135
NON-FEDERAL

**PROJECT:** STATEWIDE I-95 DURABLES

**STATE PROJECT NUMBER:** 44135

FED. PROJECT NUMBER: NON-FEDERAL

**DATE BIDS OPEN:** May 18, 2023, 2:00 PM

SCOPE OF WORK: Placing durable painting markings along all of I-95

**COMPLETION DATE:** September 29, 2023

LOCATION: Rockingham

Awarded To: L & D SAFETY MARKINGS

CORP

304 EAST MONTPELIER RD

BARRE, VT 05641-8373

Amount: \$1,073,575.00 Certified by: WILLIAM.J.OLDENBURG

Award Date: Director of Project Development

## **Summary of Bidders**

Contractor	Bid Amount	Rank
L & D SAFETY MARKINGS CORP	\$1,073,575.00	Α
304 EAST MONTPELIER RD, BARRE VT 05641-8373		
K5 CORPORATION	\$1,155,750.00	В
9 ROCKVIEW WAY, ROCKLAND MA 02370		
ROADSAFE TRAFFIC SYSTEMS INC	\$1,346,375.00	С
55 Bodwell Street, AVON MA 02322		



# **ABC Bid Data**

STATEWIDE I-95 DURABLES
44135
NON-FEDERAL

					F	PS&E	304 EAST M	MARKINGS CORP ONTPELIER RD T 05641-8373	9 ROCK	RPORATION (VIEW WAY ND, MA 02370
It	tem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$30,000.00	\$30,000.00	\$49,350.00	\$49,350.00	\$40,000.00	\$40,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$350.00	\$1,400.00	\$2,000.00	\$8,000.00	\$1,000.00	\$4,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	4.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$1,000.00	\$4,000.00
632.71206	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 6" LINE	LF	506,500.00	\$1.55	\$785,075.00	\$1.45	\$734,425.00	\$1.60	\$810,400.00
632.71212	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 12" LINE	LF	47,100.00	\$3.05	\$143,655.00	\$3.00	\$141,300.00	\$3.50	\$164,850.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,500.00	\$2.75	\$6,875.00	\$5.00	\$12,500.00	\$1.00	\$2,500.00
692.	MOBILIZATION	U	1.00	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00	\$20,000.00	\$20,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00

Totals: \$1,103,005.00 \$1,073,575.00 \$1,155,750.00

Alt. Totals: \$1,103,005.00 \$1,073,575.00 \$1,155,750.00



# **ABC Bid Data**

STATEWIDE I-95 DURABLES
44135
NON-FEDERAL

Ī					F	'S&E	55 Bod	AFFIC SYSTEMS INC lwell Street MA 02322		
	Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$30,000.00	\$30,000.00	\$65,000.00	\$65,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$350.00	\$1,400.00	\$500.00	\$2,000.00	
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	4.00	\$1,500.00	\$6,000.00	\$10,000.00	\$40,000.00	
632.71206	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 6" LINE	LF	506,500.00	\$1.55	\$785,075.00	\$1.80	\$911,700.00	
632.71212	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 12" LINE	LF	47,100.00	\$3.05	\$143,655.00	\$4.25	\$200,175.00	
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,500.00	\$2.75	\$6,875.00	\$1.00	\$2,500.00	
692.	MOBILIZATION	U	1.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	

Totals: \$1,103,005.00 \$1,346,375.00 Alt. Totals: \$1,103,005.00 \$1,346,375.00



# **PS&E Comparison**

**STATEWIDE I-95 DURABLES** 44135 NON-FEDERAL

		_		A-Bide	der	PS8	kΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$49,350.00	\$49,350.00	\$30,000.00	\$30,000.00	\$19,350.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,000.00	\$8,000.00	\$350.00	\$1,400.00	\$6,600.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	4.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$0.00
632.71206	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING. 6" LINE	LF	506,500.00	\$1.45	\$734,425.00	\$1.55	\$785,075.00	(\$50,650.00)
632.71212	GROOVED RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 12" LINE	LF	47,100.00	\$3.00	\$141,300.00	\$3.05	\$143,655.00	(\$2,355.00)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,500.00	\$5.00	\$12,500.00	\$2.75	\$6,875.00	\$5,625.00
692.	MOBILIZATION	U	1.00	\$12,000.00	\$12,000.00	\$20,000.00	\$20,000.00	(\$8,000.00)
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
	Total:				\$1,073,575.00		\$1,103,005.00	(\$29,430.00)

Page 4 of 4 Tuesday, June 6, 2023